

MOR CONSTRUCTION, IMI
621 EAST BAYLIS CHAPL
COLUMBIA, M5 39459
PHONE: 601.731.8716
FAX: 601 721,2774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # 25-23089
Week Ending October 21, 2018
Foreman Eugene Breland
Storm Number FE1890469751430

Overtime	(Qty	Price	Total
Foreman ,.		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Drīver	112.00	69.99	7,838.88
Groundman	g = - x '4	112.00	64.62	7,237.44
	way the E.)		Total Men	45,292.80
Equipment	77.13	Qty	Price	Total
Crew Cab Pick-u	p ,	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	5,778.72	1.12.00	47.36	5,304.32
Pole Trailer)	112.00	17.60	1,971.20
Dozer	<u>(</u> ,	112.00	71.50	8,008.00
Rope Rig	3,10110	112.00	25.00	2,800.00
Tension Trailer	47.000	112.00	25.00	2,800.00
		To	otal Equipment	34,214.88
	A Section		Total Meals	46.11
	220.29		Total Fuel	279.19
		To	tal Due to MDR	79,832.98

www.eithodawfigeting.flug

Date Rcvd:_



MOR CONSTRUCTION HI 621 EAST BAYLES CHAPL COLUMBIA, MS 19429 PHONE GOLVOL 8716 FAX: 601 V21 8774

October 22, 2018

	- 1 ·		Invoice #	25-23089
Flordia Public Utilites			Week Ending	October 21, 2018
		*	Foreman	Eugene Breland
	149 (S.1.4.9)		Storm Number	FE1890469751430
Overtime	7/St.] :	Qty	Price	Total
Foreman		112,00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Driver	7,458/4 3	112.00	69.99	7,838.88
Groundman	7,2574,44	112.00	64.62	7,237.44
	25 - 1 - 1 - 1 - 1 - 1 - 1 - 1		Total Men	45,292.80
Equipment	The state of the s	Qty	Price	Total
Crew Cab Pick-up	7.7.7.7	112.00	24.31	2,722.72
Material Handler Bucke	t 57'	224.00	47.36	10,608.64
Digger Truck	7.	112.00	47.36	5,304.32
Pole Trailer	1, 11 : 21)	112.00	17.60	1,971.20
Dozer	S. (2) - 17)	112.00	71.50	8,008.00
Rope Rig	,)	112.00	25.00	2,800.00
Tension Trailer)	112.00	25.00	2,800.00
	(a) (a) (a)		Total Equipment	34,214.88
			Total Meals	46.11
	1.0		Total Fuel	279.19
			Total Due to MDR	79,832.98



Eugene Breland

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men ar	id Ho	urs					То	tals			
Weekday	15	16	17	18	19	20	21			Meals	Motel:	Other
Employee Name	M	Т	W	Т	F	S	S	RT	ОТ			
Eugene Breland	16	16	16	16	16	16	16		112			Foreman
Nathan Richie	16	16	16	16	16	16	16		112			Lineman
Heath Truett	16	16	16	16	16	16	16		.112			Lineman
Mark Breland	16	16	16	16	16	16	16	ĺ	112			Operator
Thomas McCardle	16	16	.16	16	16	16	16		112			Groundman
		;; · · ·				<u> </u>						The second secon
) A	ļ		the contract of the contract of							
		į.					·					

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information										
Monday	15:00 AM - 9:00 PM										
Tuesday	5:00 AM - 9:00 PM										
Wednesday	6:00 AM - 10:00 PM										
Thursday	6:00 AM - 10:00 PM										
Friday	6:00 AM - 10:00 PM										
Saturday	6:00 AM - 10:00 PM										
Sunday	6:00 AM - 10:00 PM										

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

=1 =					EQUI	PMEN	T	**************************************	
Equipment#	M	Т	W	T	F	S	S	To	From
566 Crew Cab Pickup	16	16	16	16	16	16	16		
714 Material Handler Bucket	16	16	16	16	16	16	16	erection of the management of the state of t	
627 Material Handler Bucket	16	16	16	16	16	16	16		and the second section and the second section is second section to the second section
712 Digger Derrick	16	16	16	16	16	16	16	personal to find the control of the	nennennen menne tagara erasia est.
567 Pole Trailer	16	16	16	16	16	16	16		
431 Rope Rig	16	16	16	16	16	16	16	make a secretary of a many of the Company for the	
53 Tension Trailer	16	16	16	16	16	16	16		E 100 9 46 9
592 Bulldozer	16	16	16	16	16	16	16	**	8 × 30.6 (3.199
The special of the control of the co				* ···· · · · · · · · · · · · · · · · ·		 		and the second of the second o	·

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Eugene Breland Job No FE1890469751430

Week Ending 10/21/2018 Location Florida Public Utilities

Men and Hours Totals										3	
Weekday	15	16	17	18	19	20	21				Other
Employee Name	M	T	W	T	F	\$	S	RT	OT	eals	
Eugene Breland	16	16	16	16	16	16	16		112		Line-Foreman
Nathan Ritchle	16	16	16	16	16	16	16		11.5		Line-Journeyman
Healh Truett	16	16	16	16	16	16	16		11.5		Line-Journeyman
Mark Breland	16	16	16	16	16	16	16		77		Equipment Operator
Thomas McCardle	16	16	16	16	16	16	16		lis		Line-Groundmen
						***************************************					Non-the-state of the state of t
No. 10 - 1, 19 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	_										
											The state of the s
**************************************											**************************************
		1	i					***************************************			***************************************

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	Start 5:00 am thru 9:00 pm	Working at Marianna								
Tuesday	Start 5:00 am thru 9:00 pm	Working at Marianna								
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna								

List above any additional information needed. If you work on several circuits specific how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular top please give specifics for each.

		8.10.		EC	QUIPM	ENT	
Equipment #	M	T	W	T	F	S	5
566 Crew Cab Pickup	16	16	16	16	16	16	16
714 Malerial Handler Bucket 55'	16	16	16	16	16	16	16
827 Malerial Handler Bucket 55'	16	16	16	16	16	16	16
712 Digger Derrick	16	16	16	16	16	16	16
567 Pole Trailer	16	16	16	16	16	16	16
431 Rope Rig	16	16	16	16	16	16	16
53 Tension Trailer	16	16	16	16	16	16	16
592 Bulldozer	16	16	16	16	16	16	16

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the

MDR Construction

Weekly Timesheet

Eugene Breland -PU Storm 2599184

Thank You For Shopping At 7130 TOM THUMB 0152 2102 S Waukesha St

Bonifay 32425

850-547-4258

10/15/2018 7:05:20 AM

Register: 100

Tran Seq No:2746465

Cashier: ICR

Pump 2 Diesel \$3.149 ppg 47.635 gal \$150.00

 Sub. Total:
 \$150.00

 Tax:
 \$0.00

 Total:
 \$150.00

Master Card: \$150.00

Change \$0.00

Master Card XXXXXXXXXXXXX9553

10/15/2018 07:05:09

I agree to pay the above Total Amount according to Card Issuer Agreement.

THANK YOU, PLEASE COME AGAIN
Want to be part of a team and
make a DIFFERENCE?
Come for a job, stay for a career!

Want a FREE DRINK
or 50 BONUS POINTS
with any purchase?
Please Tell us
what you think at
telltomthumb.com
within 14 days
Survey Code:
671-152-6465-100-61
Thank You!
Coupon Code

Eugene Breland FPU Storm 259918 H 713

Welcome To Loves#561

10/15/18 13:33

Pump Gallons Price 01 22.936 \$ 2.899

Product Amount Unleaded \$ 66.49

TOTAL SALE \$ 66.49

##########9553

Card: MC Approval: A48609

Ticket: 8284

TOTAL SALE \$ 66.49

Thank You !!!

Eugene Breland V
FPU Storm 259918H
Thank You For Shopping At
TOM THUMB 0152 7130
2102 S Waukesha St
Bonifay
FL

10/15/2018 7:09:55 AM

Register: 100

Tran Seg No:2746536

Cashier: ICR

Pump 7 Unld_Regular \$2.749 ppg 22.808 gal \$62.70

 Sub. Total:
 \$62.70

 Tax:
 \$0.00

 Total:
 \$62.70

Master Card:

\$62.70

\$0.00

Change

Master Card

XXXXXXXXXXXXX9553

10/15/2018 07:09:45

I agree to pay the above Total Amount according to Card Issuer Agreement.

THANK YOU, PLEASE COME AGAIN
Want to be part of a team and
make a DIFFERENCE?
Come for a job, stay for a career!

Want a FREE DRINK
or 50 BONUS POINTS
with any purchase?
Please Tell us
what you think at
telltomthumb.com
within 14 days
Survey Code:
671-152-6536-100-61
Thank You!
Coupon Code

COZUMEL MEXICAN GRILL

1008 COUNTY RD 68 LOXLEY, AL 36551

2519642694 Eugene

ORDER: table 18 Breland Seed Dine-In FP4

Cashier: Flor -15-Oct-2018 11:07:31A

Transaction 208814

Subtotal Tax

\$37.72 \$3.39

Total

\$41.11

CREDIT CARD AUTH

\$41:11

"VISA 1162

Tip

5.00

· Total

Retain this copy for statement validations

15-Oct-2018 11:83:02A \$41.11 | Method: SWIPED VISA XXXXXXXXXXXXX1162

EUGENE BRELAND

Ref #: 828800712321 | Auth #: 01:2860

MID: ******9880 AthNtwkNm: VISA SIGNATURE VERIFIED

Order 98PXFWONAAY,IW

FPUC-HM 00527



MOR CONSTRUCTION, INI SEL EAST BAYLIS CHAPL FAX* 601 721,2774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites

Invoice # 25-23090 Week Ending October 21, 2018 Foreman Eric Jefcoat Storm Number FE1890469751430

		21		æ
Overtime		Qty	Price	Total
Foreman	31,5	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman	1	112.00	64.62	7,237.44
	(¥	*		3. S.
			Total Men	45,292.80
Equipment	1,51,1	Qty	Price	Total
Crew Cab Pick-u		112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	5,5,12332	112.00	47.36	5,304.32
Pole Trailer	1, 111, 243	112.00	17.60	1,971.20
Log Skidder w/ G	rapples	112.00	72.60	8,131.20
Rope Rig	7,13 123	112.00	25.00	2,800.00
Tension Trailer	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	112.00	25,00	2,800.00
* **			*	
	3	Tot	al Equipment	34,338,08
pre on puls.	115000	Tota	al Due to MDR	79,630.88

Date Rcvd:___

MAM PERMEMBERS INC. CICIE



MOR CONSTRUCTION INI 621 EAST BAYLIS DRAPE CELUMBIA, MS 39420 PHONE: 601 731 2716 FAX 601 731 2774

October 22, 2018

Mr. Clint Brown	
Flordia Public Utilites	

Invoice # 25-23090
Week Ending October 21, 2018
Foreman Eric Jefcoat
Storm Number FE1890469751430

Overtime	1	Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman	1 (1 = 1)	224.00	84.65	18,961.60
Operator/Truck Driv	∕er 3	112.00	69.99	7,838.88
Groundman	7, 337, 44 "	112.00	64.62	7,237.44
	327~7.20		Total Men	45,292.80
Equipment	1776	Qty	Price	Total
Crew Cab Pick-up	2,73 - 2	112.00	24.31	2,722.72
Material Handler Bud	cket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	(37.73)	112.00	17.60	1,971.20
Log Skidder w/ Grap	ples ,	112.00	72.60	8,131.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer	(112.00	25.00	2,800.00
	7.79	To	otal Equipment	34,338.08
	10 pt 10 pt	To	tal Due to MDR	79,630.88



Eric Jefcoat

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs		······································			Tot	als			
Weekday	15	16	17	18	19	20	21			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			to a resolution to the control
Eric Jefcoat	16	16	16	16	16	16	16	-	112			Foreman
Dekoven Wright	16	16	16	16	16	16	16		112			Lineman
Ryan Wood	16	16	16	16	16	16	16		112			Lineman
Ashton White	16	16	16	16	16	16	16		112	*	***	Operator
Tanner Carpenter	16	16	16	. 16	16	16	16		112	*1 23.000	sinis some	Groundman
						*********	P. C. Davis		-			
						iii						83
												e to a graph of the second of
		j V				ii		1			., .,,,,,,	ente migration e la manuscripio de si
The second second second second second second second						¥	Luc I.a					e e e e MA
		5. ·				j.,r	[

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

100000000	Additional Information									
Monday	5:00 AM - 9:00 PM									
Tuesday	5:00 AM - 9:00 PM									
Wednesday	6:00 AM - 10:00 PM	·:								
Thursday	6:00 AM - 10:00 PM	10.424								
Friday	6:00 AM - 10:00 PM									
Saturday	6:00 AM - 10:00 PM	i. # -1:								
Sunday	6:00 AM - 10:00 PM									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

					EQUI	PMEN	T		
Equipment#	M	T	W	T	F	S	S	То	From
648 Crew Cab Pickup	16	16	16	16	16	16	16		
658 Material Handler Bucket	16	16	16	16	16	16	16		
584 Material Handler Bucket	16	16	16	16	16	16	16	to the state of the section of the s	frotto de mendena (mos a varios de
717 Digger Derrick	16	16	16	16	16	16	16		manufacture and out of the state of the stat
455 Pole Trailer	16	16	16	16	16	16	16	and the second s	. PY YES I NOW IN
517 Rope Rig	16	16	16	16	16	16	16		e en e 1 see
712 Tension Trailer	16	16	16	16	16	16	16		· Merce at the teachers and the same
251 Pull Skidder	16	16	16	16	16	16	16		e e e e e e e e e e e e e e e e e e e
	1.40				1	, L	I		3

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Eric Jefcoat Job No FE1890469751430 Week Ending 10/21/2018 Location FPU Marianna Hurr. Michael

	Men and Hours											
Weekday	15	16	17	18	19	20	21			Meals	Motel	Other
Employee Name	M	T	W	T	F	\$	S	RT	OT			
Ed Jefcoat	16	16	16	16	16	16	16					Line Foreman
Dekoven Wright	16	16	16	16	16	16	16	m 4.*** - 4.**				Line Journeyman
Ryan Wood	16	16	16	16	18	16	16		MACINES IN TOWN			Line Journeyman
Ashton White	16	16	16	16	16	16	16					Equipment Operator
Tanner Carpenter	16	16	16	16	16	16	16					Line Groundman
•												
4 me density many we also be made the second second		100-34 1-100-14	> - Debitaleistas	154 Walls & Mar				***		,		m mi' tur P & Annekkassessier (MacCobus Britis at 12 Durms Anna d'Araus
and the state of t									***************************************			

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the boltom of this sheet

	Additional Infor	nation
Monday	Start 5:00 am thru 9:00 pm	Working at Marianna
Tuesday	Start 5:00 am thru 9:00 pm	Working at Marianna
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is

					EQUI	PMEN	r		
Equipment#	M	T	W	T	F	\$	S	To	From
648 Crew Cab Pickup	16	16	16	16	16	16	16		
658 Material Handler Bucket	16	16	16	16	16	16	16	1//	100000
584 Material Handler Bucket	16	16	16	16	16	16	16	1 Var	
717 Digger Derrick	16	16	16	16	16	16	16	1	!
455 Pole Traller	16	16	16	16	16	16	16	118	
517 Rope rig	16	16	16	16	16	16	16	100/10	**
712 Tensioner Trailer	16	16	16	16	16	16	16	1 1/1/4	
261 Pull Skidder	16	16	16	16	16	16	16		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foremen's credit card, unless meals are supplied by the customer. MDR Construction



MOR CONSTRUCTION; HAT 621 EAST BAYLIS GHAPE COLUMBIA, MS 39428 PHONE 601 701,3718 PAKE 601 731,3774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # 25-23091
Week Ending October 21, 2018
Foreman Jayson Breland
Storm Number FE1890469751430

				a)
				¥
Overtime		Qty	Price	Total
Foreman	3	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		96.00	64.62	6,203.52
				1
	44.0		Total Men	44,258.88
Equipment		Qty	Price	Total
Crew Cab Pick-u	p	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	5,734 52	112.00	47.36	5,304.32
Pole Trailer	-1 ₂	112.00	17.60	1,971.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer	57-57-00	112.00	25.00	2,800.00
	3		Total Equipment	26,206.88
		h	Total Due to MDR	70,465.76

Date Rcvd:

Processed By: J Roye

MOOPHOUSEWERSHOUNDER



MOR CONSTRUCTION THE 621 EAST BAYIES CHAPE COLUMBIA, MS 39429 PHONE GUI 731 7716 PAX 601 731 2774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites

Invoice # 25-23091
Week Ending October 21, 2018
Foreman Jayson Breland
Storm Number FE1890469751430

Overtime	1	Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman	14, 11.11	224,00	84.65	18,961.60
Operator/Truck Dri	ver ,	112.00	69.99	7,838.88
Groundman	1, No. 32	96.00	64.62	6,203.52
			Total Men	44,258.88
<u>Eaulpment</u>	Transfer of	Qty	Price	Total
Crew Cab Pick-up	1 4	112.00	24.31	2,722.72
Material Handler Bu	cket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	1,00130	112.00	17.60	1,971.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer	7	112.00	25.00	2,800.00
		Tot	al Equipment	26,206.88
		Tota	I Due to MDR	70,465.76



Jayson Brealnd

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men a	nd Ho	ırs					To	als			
Weekday	15	16	17	18	19	20	21			Meals	Motels	Other
Employee Name	M	Т	W	T	F	S	S	RT	ОТ			
Jayson Breland	16	16	16	16	16	16	16		112			Foreman
William D'Andrea	16	16	16	16	16	16	16		112			Lineman
Donald Pierce	16	16	16	16	16	16	1.6		112			Lineman
Ryan Edwards	16	16	16	16	16	16	16	her of	112			Operator
Tommy Bell	16	16	16	Χ	Χ	Х	Х		48	AP Name of Control		Groundman
Taylor Boyle	X	Х	Х	Х	16	16	16		48			Groundman
The second secon		i:		·	9							Control of the contro
												All the second sections and the second section of the second seco
·												
					i				74.			
	il .	Ĭ.,				gra Phadistaria - Lincolnia	-				. ,	etros in a management of the second of the s

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

Additional Information								
Monday	5:00 AM - 9:00 PM							
Tuesday	5:00 AM - 9:00 PM							
Wednesday	6:00 AM - 10:00 PM							
Thursday	6:00 AM - 10:00 PM							
Friday	6:00 AM - 10:00 PM							
Saturday	6:00 AM - 10:00 PM							
Sunday	6:00 AM - 10:00 PM							

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~				EQUI	PMEN	T		
Equipment#	M	T	W	T	F	S	s	To	From
397 Crew Cab Pickup	16	16	16	16	16	16	16		
582 Material Handler Bucket	16	16	16	16	16	16	16	The second second second second second second second	*
713 Material Handler Bucket	16	16	16	16	16	16	16	Complete of the Complete on Complete According to the Complete According to the Complete Comp	tem to a commercial region of security as a second
725 Digger Derrick	16	16	16	16	16	16	16	1998 (Name of the State of State of the Stat	And compressed the control of the company of the company
331 Pole Trailer	16	16	16	16	16	16	16	A CONTRACTOR STATE OF THE STATE	of a second second
663 Rope Rig	16	16	16	16	16	16	16		and the state of t
16 Tension Trailer	16	16	16	16	16	16	16		200200

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jayson Breland Job No FE1890469751430

Week Ending 10/21/2018 Location FPU Marlanna Hurr. Michael

	Men and Hours Totals																						
Weekday	15	16	17	18	19	20	21															Meals	Other
Employee Name	M	Ţ	W	T	F	S	S	RT	OT	Si													
Jayson Breland	16	16	16	16	16	16	16		11.5		Line-Foreman												
William D'Andrea	16	16	16	16	16	16	16		11.5	-	Line-Journeyman												
Donald Pierce	16	16	16	16	16	16	16		115		Line-Journeyman												
Ryan Edwards	16	16	16	16	16	16	16		11.5		Equipment Operator												
Tommy Bell	16	16	16	Х	Х	Х	Х		48		Line-Groundman												
Taylor Boyle	X	Х	Х	Х	16	16	16		48		Line-Groundman												
			**********************		***************************************	***************************************																	
								***************************************															

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by pulling the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	Start 5:00 am thru 9:00 pm	Working at Marianna								
Tuesday	Start 5:00 am thru 9:00 pm	Working at Marianna								
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marlanna								
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna								
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna								

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

	EQUIPMENT											
Equipment #	M	T	W	T	F	S	S					
697 Crew Cab Pickup	16	16	16	16	16	16	16					
582 Material Handler Bucket 55'	16	16	16	16	16	16	16					
713 Malerial Handler Bucket 55'	16	16	16	16	16	16	16					
725 Digger Derrick	16	16	16	16	16	16	16					
631 Pole Trailer	16	16	16	16	16	16	16					
563 Rope Rig	16	16	16	16	16	16	16					
516 Tension Traller	16	16	16	16	16	16	16					
				-	***************************************							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays, Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these publishings. All meals for employees on storm work should be charged on the

MDR Construction

Weekly Timesheet



MOR CONSTRUCTION, INI 621 EAST BAYLIS CHAPE CCLUMBIA, MB 39427 PHONE 601/701.8716 FAX: 601/731.8774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # 25-23092

Week Ending October 21, 2018

Foreman Johnny Martin Storm Number FE1890469751430

<i>E</i>						20
Overtime			98	Qty	Price	Total
Foreman	- ,		1	12.00	100.49	11,254.88
Lineman			2	24.00	84.65	18,961.60
Operator/Truck [	Driver		1	12.00	69.99	7,838.88
Groundman		(2)	1	12.00	64.62	7,237.44
					Total Men	45,292.80
	¥					
<u>Equipment</u>				Qty	Price	Total
Crew Cab Pick-up	0		1	12.00	24.31	2,722.72
Material Handler	Bucket 57f		2	24.00	47.36	10,608.64
Digger Truck	7,777		1.	12.00	47.36	5,304.32
Pole Trailer			1:	12.00	17.60	1,971.20
Rope Rig	2, 5,3		1:	12.00	25.00	2,800.00
Tension Trailer	2,500,00	•	1:	12.00	25.00	2,800.00
	1				Total Equipment	26,206.88
					Total Due to MDR	71,499.68

PR#:______O Date Rcvd:_

Received By: __

Scanned Date: 16-30-18
Processed By: J Roye

WWW HENDOWERS INC. BOTH



MOR CONSTRUCTION INT 621 EAST BAYLIS CHAPL COLUMBIA, MS 39479 PHONE 601 731 2711. FAX 601 731 2774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites

Invoice # 25-23092
Week Ending October 21, 2018
Foreman Johnny Martin
Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman	· · · · · · · · · · · · · · · · · · ·	112.00	100.49	11,254.88
Lineman	( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )	224.00	84.65	18,961.60
Operator/Truck Driv	rer jakana.	112.00	69.99	7,838.88
Groundman	appear for the first	112.00	64.62	7,237.44
Tub Bodye	11.737		Total Men	45,292.80
Equipment	11. 5	Qty	Price	Total
Crew Cab Pick-up	7, 2517),	112.00	24.31	2,722.72
Material Handler Bud	ket 57	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	(2. L2)	112.00	17.60	1,971.20
Rope Rig	15.51	112.00	25.00	2,800.00
Tension Trailer		112.00	25.00	2,800.00
	7,7538%	Tot	al Equipment	26,206.88
		Tota	al Due to MDR	71,499.68



Johnny Martin

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs	cardinal make make				To	tals		П	
Weekday	15	16	17	18	19	20	21			Meals	Motel:	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			3 -11 1/11
Johnny Martin	16	16	16	16	16	16	16		112	<u> </u>		Foreman
Shane Rankin	16	16	16	16	16	16	16		112			Lineman
Brandon Lawshe	16	16	16	16	16	16	16		112			Lineman
Tyler Langham	16	16	16	16	16	16	16		112			Operator
Joey Dantin	16	16	16	16	16	16	16		112			Groundman
	19 -	<b>;</b> ; ; · · · ·	<b>.</b>			<b>4</b> .,						and the second s
a sa	. <u>L.</u>	j	- wan									
and the property of a second second						Picart accessed						
		 	· 1944			Ŀ.						
·	ر السيال	ro- i re-vi										
	Įū.	22 22										

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the hottom of this sheet

Additional Information								
Monday	5:00 AM - 9:00 PM	Activities and the second seco						
Tuesday	5:00 AM - 9:00 PM	and the same production and the same same same same same same same sam						
Wednesday	6:00 AM - 10:00 PM	IN BELLEVILLE OF THE WARRENCE OF THE SECOND						
Thursday	6:00 AM - 10:00 PM	the contract of the second of the contract of the second o						
Friday	6:00 AM - 10:00 PM	AND THE RESIDENCE OF THE PARTY						
Saturday	6:00 AM - 10:00 PM	months and the first and a second of a second of the secon						
Sunday	6:00 AM - 10:00 PM							

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	T		
Equipment #	M	T	W	T	F	S	S	То	From
681 Crew Cab Pickup	16	16	16	16	16	16	16		
581 Material Handler Bucket	16	16	16	16	16	16	16		control of the second of the s
678 Material Handler Bucket	16	16	16	16	16	16	16	2100 1 011 1 1 1 1 1 1 1 W K F A	CONTRACTOR
418 Digger Derrick	16	16	16	16	16	16	16		
315 Pole Trailer	16	16	16	16	16	16	16		V 100 C 100 V 10
731 Rope Rig	16	16	16	16	16	16	16	EXX "M. DER EME AN AMERICAN	· ·
730 Tension Trailer	16	16	16	16	16	16	16		
_:		<b>.</b>	J	l ,. ,	L	l	L		The state of the s
	**	•······-	T		1	r I .			

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet

Johnny Martin

FE1890469751430

Week Ending

FPU Marlanna Hurr. Michael

	Men a	nd Ho	urs				**************************************	To	tals			
Weekday	15	16	17	18	19	20	21			Meals	Motel	Other
Employee Name	M	T	W	T	F	5	S	RT	ОТ			<b>V</b> 11.VI
Johnny Martin	16	16	16	16	16	16	16		112			Line-Foreman
Shane Rankin	16	16	16	16	16	18	16		11.5			Line-Journeyman
Brandon Lawshe	16	16	16	16	16	16	16		112			Line-Journeyman
Tyler Langham	16	16	.16	18	16	16	16		112			Equipment Operator
Joey Dantin	16	16	16	16	16	16	16		11.5			Line-Groundman
* Security Constitution of	- /											
State of the state												**************************************
												10000
· · · · · · · · · · · · · · · · · · ·												
In the spaces provided above tis												

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is incated at the bottom of this at

	Additional Informat	tion
Monday	Start 5:00 am thru 9:00 pm	Work at Marianna
Tuesday	Start 5:00 am thru 9:00 pm	Work at Marianna
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marianna
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna
Friday	Start 6:00 am thru 10:00 pm	Work at Marianna
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna
Sunday	Start 6:00 am thru 10:00 pm	Work at Marianna

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	7		
Equipment #	M	T	W	TT	F	S	S	To	From
681 Crew Cab Pickup	16	16	16	16	16	16	16	l l	245-77
581 Material Handler Bucket	16	16	16	16	16	16	16	1 1	**************************************
678 Material Handler Bucket	16	16	16	16	16	16	16	T WW-	
418 Digger Derrick	16	16	16	16	16	16	16	1777	
315 Pole Trailer	16	16	16	16	16	16	16	Not	T. W. TRANSPORTER STREET, Section 18 1911 18 18 1911
731 Rope Rig	16	16	16	16	16	16	16	1001	
730 Tension Trailer	16	16	16	16	16	16	16	\\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\	
						1	***************************************	The second section of the section of th	
								The same of the sa	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction



MOR CONSTRUCTION, INL 631 CAST BAYLIS CHAPE COLLIMBIA, MB 36430 PHONE: 601,701,3716 FAX: 601,731,3774

October 22, 2018

Mr. Clint Brown
Flordia Public Utilites

Invoice #	25-23093
Week Ending	October 21, 2018
Foreman	Jerry Brown
Storm Number	FE1890469751430

Overtime		Qty	Price	Total
Foreman	3	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
	A5,590,00		Total Men	45,292.80
Equipment	12 12 12	Qty	Price	Total
Crew Cab Pick-	1 <b>p</b> = 2,722,72	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		1.12.00	17.60	1,971.20
Back Yard Buggy	( ) ( ) ( ) ( ) ( )	112.00	45.00	5,040.00
equip appea	27 (14 (14 <del>1</del> )	Tota	al Equipment	25,646.88
	ety sector 44	Tota	l Due to MDR	70,939.68

PR#: 009202

Date Rovd: 10-30-18

Received By: 120-18

Scanned Date: 10-30-18

Processed By: J Roye

គេបាន និគារ រងរបយ្តបទេបទេ www



MOR CONSTRUCTION UNI
621 EAST BAYLIS CHAPL
CCLUMBIA, MS 19420
PHORE BUI 731 2718.
FAX 601 731 2774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites

. . . . . .

Invoice # 25-23093
Week Ending October 21, 2018
Foreman Jerry Brown

Storm Number FE1890469751430

Overtime	35-1	Qty	Price	Total
Foreman	773,5,13 %	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Driv	ver .	112.00	69.99	7,838.88
Groundman	1, 117 14	112.00	64.62	7,237.44
Mariana.			Total Men	45,292.80
<u>Equipment</u>	1211	Qty	Price	Total
Crew Cab Pick-up		112.00	24.31	2,722.72
Material Handler Bud	ket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	1,200	112.00	17.60	1,971.20
Back Yard Buggy	(,500)	112.00	45.00	5,040.00
		То	tal Equipment	25,646.88
		Tot	al Due to MDR	70,939.68

WWW SHIPPOLIMER OFF CON-



Jerry Brown

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men ar	nd Ho	urs		7	······································		То	tals			
Weekday	15	16	17	18	19	20	21			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Jerry Brown	16	16	16	16	16	16	16		112			Foreman
Cole Stewart	16	16	16	16	16	16	16		112			Lineman
Owen Breazeale	, 16	16	16	16	16	16	16	,	112			Lineman
Ryan Williamson	16	16	16	16	16	16	16		112			Operator
Monroe Beardain	16	16	-16	16	16	16	16	, mmm	112			Groundman
		.e.	1				,		· · · · · · · · · · · · · · · · · · ·			4 4 4
<u></u>	-  -  -  -  -  -  -  -  -  -  -  -  -  -	.3:			<b>.</b>							The second second second
1	1	ig	!!			· <del>····································</del>						
The state of the s	البدر خال	rije Podenske mili	i		<u> </u>	<u>V</u>		÷	L			
The state of the s		Ap	1- 1								-	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

Additional Information										
Monday	5:00 AM - 9:00 PM			Terror		7.792 ( Å)				
Tuesday	5:00 AM - 9:00 PM	The state of the s	tames to astume to come any first coupy the real first successive	and the second of the second o	The second secon	non-months in the				
Wednesday	6:00 AM - 10:00 PM		er en	*** *** ******************************		. P. 13 <u>. 1</u> 2 - 1				
Thursday	6:00 AM - 10:00 PM			and the second	er ere kommer saaks.					
Friday	6:00 AM - 10:00 PM			the control of the co		* * ** *** *** *				
Saturday	6:00 AM - 10:00 PM		1 1 Let C 1 Let C 1	a many color of a state or company of						
Sunday	6:00 AM - 10:00 PM				, Ta, 1 a, a	· · · · · · · · · · · · · · · · · · ·				

List above any additional information needed, if you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

	*****				EQUI	PMEN	T		
Equipment #	M	Т	W	T	F	S	S	То	From
586 Crew Cab Pickup	16	16	16	16	16	16	16		
629 Material Handler Bucket	16	16	16	16	16	16	16		mentale contactor or in a mesantial or consistent
657 Material Handler Bucket	16	16	16	16	16	16	16		***************************************
651 Digger Derrick	16	16	16	16	16	16	16		
660 Pole Trailer	16	16	16	16	16	16	16	A CO CONTRACTOR OF COMPANY	
663 Back Yard Machine	16	16	16	16	16	16	16	··· · · · · · · · · · · · · · · · · ·	
						Ī			
						,			Maria de la companya del companya de la companya de la companya del companya de la companya de l

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jerry Brown

10/21/2018

Week Ending

FE1890469751430

Location FPU Marianna Hurr, Michael

	Vien a	nd Ho	urs					To	tals			
Weekday	15	16	17	18	19	20	21			Moals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Jerry Brown	16	16	16	16	16	16	16		SII			Line-Foreman
Cole Stewart	16	16	16	16	16	16	16		117			Line-Journeyman
Owen Breazeale	16	16	16	16	16	16	16		115			Line-Journeyman
Ryan Williamson	16	16	-16	-16	16	16	16		11.5			Equipment Operator
Monroe Beardain	16	16	16	16	16	16	16		112			Line-Groundman
······································												MAR PLANT PROPERTY MARKET MARKET LANGUAGE C
			<b></b>				•.					
						· · · · · · · · · · · · · · · · · · ·				t Arasımın üzürünsen id		
					141					<b></b>		
	1					-						
	1									]		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	Start 6:00 am thru 9:00 pm	Working in Marianna								
Tuesday	Start 5:00 am thru 9:00 pm	Working in Marlanna								
Wednesday	Start 6:00 am thru 10:00 pm	Working in Marianna								
Thursday	Start 6:00 am thru 10:00 pm	Working In Marianna								
Friday	Start 6:00 am thru 10:00 pm	Working in Marianna								
Saturday	Start 6:00 am thru 10:00 pm	Working In Marianna								
Sunday	Start 6:00 am thru 10:00 pm	Working in Marianna								

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

Equipment #         M         T           586 Crew Cab Pickup         16         16           629 Material Handler Bucket         16         16	W 16	16	F   16	S 16	8	То	From
	16	16	16	16	40		A TANKS AND A STATE OF THE PROPERTY OF THE PARTY OF THE P
629 Material Handler Bucket 16 16		1		10	16		
The manufacture of the total of	16	16	16	16	16		1
657 Material Handler Bucket   16   16	16	16	16	16	16	Var	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1
651 Digger Derrick 16 16	16	16	16	16	16	1.810	
660 Pole Traller 16 16	16	16	16	16	16	MAP 11 11d	B1704
663 Backyard Machine 16 16	16	16	16	16	16	117 . 1/49	
						1010	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, upless meals are supplied by the customer. **MDR** Construction



MOR CONSTRUCTION, 101, 621 EAST BAYLIS CHAPL CCLUMBIA, ME GRADO PHONS: 601 701,2716 FAX! 601 721,2774

October 22, 2018

Mr. Clint Brown	
Flordia Public Utilites	i

Invoice # 25-23094
Week Ending October 21, 2018
Foreman Cole Wyatt
Storm Number FE1890469751430

Overtime	· · · · · · · · · · · · · · · · · · ·	Qty	Price	Total
Foreman		48.00	100.49	4,823.52
Lineman		96.00	84.65	8,126.40
Operator/Truck	Driver	48.00	69.99	3,359.52
Groundman	5.38 .61	144.00	64.62	9,305.28
		i .		
Part of Lord	35,53,57%		Total Men	25,614.72
Equipment	Total	Qty	Price	Total
Crew Cab Pick-u	up 12,101.73	96.00	24.31	2,333.76
Material Handler	Bucket 57'	96.00	47.36	4,546.56
Digger Truck	7,2 0.73	48.00	47.36	2,273.28
Pole Trailer	ngerki)	48.00	17.60	844.80
757 - 1 - 1 - 1 - 1	, - 2	To	tal Equipment	9,998.40
		Tot	al Due to MDR	35,613.12

PR#: 009210
Date Rcvd: 10-210-18
Received By: 30-18
Processed By: J Roye

, MIND THE PREWEITH WWW



MOR CONSTRUCTOR THE 621 EAST BAYES CHAPT COLUMBIA, MS 19429 PHONE 641 721 2716 FAX 661 721 2774

October 22, 2018

Mr. Clint Brown
Flordia Public Utilites

Alternationally integrated and

Invoice # 25-23094
Week Ending October 21, 2018
Foreman Cole Wyatt
Storm Number FE1890469751430

Overtime	· · · · · · · · · · · · · · · · · · ·	Qty	Price	Total
Foreman	-, -, -, -, -, -, -, -, -, -, -, -, -, -	48.00	100.49	4,823.52
Lineman	3, 1 (1)	96.00	84.65	8,126.40
Operator/Truck Drive	er	48.00	69.99	3,359.52
Groundman	3,513.13	144.00	64.62	9,305.28
			Total Men	25,614.72
Equipment	P-1.1	Qty	Price	Total
Crew Cab Pick-up		96.00	24.31	2,333.76
Material Handler Bucl	ket 57'	96.00	47.36	4,546.56
Digger Truck	3	48.00	47.36	2,273.28
Pole Trailer		48.00	17.60	844.80
			Total Equipment	9,998.40
	2,		Total Due to MDR	35,613.12



Cole Wyatt

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men ar	nd Ho	urs					To	tals			
Weekday	15	16	17	18	19	20	21			Meals	Motels	Other
Employee Name	М	T	W	T	F	S	S	RT	ОТ			
Cole Wyatt	Х	X	Х	Х	16	16	16		48			Foreman
Delbert Helton	X	Х	Х	Х	16	16	16		48			Lineman
John Taylor	X	X	X	X	.16	16	16		48			Lineman
Layton Monk	Х	Χ	X	Х	16	16	16		48			Operator
Charles Spangler	X	X	X	X	16	16	16		48			Groundman
Damion Foster	X	X	Χ	X	16	16	16		48			Groundman
Jerry Chisholm	X	_ X	X	X	16	16	16		48			Groundman
anisan tara kamanga					100	:						Transfer and the first term and the transfer and content to the set. The set of electrons a
		W. W.		[				A		a		
		¥.		İ					1			Jan

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

Additional Information									
Monday									
Tuesday	The second secon								
Wednesday									
Thursday	the second secon								
Friday	6:00 AM - 10:00 PM								
Saturday	6:00 AM - 10:00 PM								
Sunday	6:00 AM - 10:00 PM								

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

32/f	W. Charles				EQUI	PMEN	T		
Equipment #	M	T	W	T	F	S	S	To	From
575 Crew Cab Pickup	,X	X	X	Х	16	16	16		
671 Material Handler Bucket	Х	Χ	X	Х	16	16	16		
557 Material Handler Bucket	Χ	X	X	Х	16	16	16	and the country and discussions after place, and company	en egenement i versioner en vivil en vivil en
535 Digger Derrick	X	Х	X	X	16	16	16	and a control of the second second of the second se	er eit ein de Normalius annerse
196 Pole Trailer	Х	Х	X	Х	16	16	16		Market of a second of an entropy of a
506 Crew Cab Pickup	Χ	Χ	X	X	16	16	16		termeta et anno 12 anno
						I		****** *** ***************************	
a the second of		L	ļ			<b>4</b>	i		****
The fact to the second state of			r . . !	1 75.1		<u> </u>			and the second of the second o

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

**MDR** Construction

Weekly Timesheet



Foreman Cole Wyatt Job No FE1890469751430

Week Ending 10/21/2018 Location FPU Marianna Hurr. Michael

	Mon ar	ıd Hoı	urs			-01-0-044/1/14-22		To	tals	200	
Weekday	15	16	17	18	19	20	21			Meals	Other
Employee Name	M	T	W	T	F	S	8	RT	ОТ	is	
Cole Wyatt	Х	Х	Х	Х	16	16	16		48		Line-Foreman
Delbert Hellon	Х	Х	Х	Х	16	16	16		46		Line-Journeyman
John Taylor	Х	Х	Х	Х	16	16	16		48		Line-Journeyman
Layton Monk	Х	Х	Х	Х	16	16	16		48		Equipment Operator
Charles Spangler	X	Х	Х	X	16	16	16		48		Line-Groundman
Damion Foster	Х	X	Х	Х	16	16	16		44	***********	Line-Groundman
Jerry Chisolm	Х	Х	Х	Х	16	16	16		48		Line-Groundman
						***************************************					the state of the s

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the hollom of this sheet

17	Additional Information	lion
Monday		
Tuesday		
Wednesday		
Thursday		
Friday	Start 6:00 am thru 10:00 pm	Work at Marianna
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna
Sunday	Start 6:00 am thru 10:00 pm	Work at Marianna

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

				E	QUIPM	ENT	
Equipment #	M	T	W	T	T F	S	S
575 Crew Cab Pickup	Х	Х	X	Х	16	16	16
671 Material Handler Bucket 55'	Х	X	X	X	16	16	16
557 Material Handler Bucket	Х	Х	Х	Х	16	16	16
535 Digger Demick	X	Х	х	Х	16	16	16
196 Pole Trailer	X	Х	Х	X	16	16	16
506 Crew Cab Pickup	Х	Х	Х	Х	16	16	18
V. C.	**************************************	***************************************	······································		-MeteralWilana.	-2	
		***************************************					
The state of the s							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

**MDR** Construction

Weakly Timesheet



MOR CONSTRUCTION; INI
621 EAST BAYLIS CHAPE
CULUMBIA, MS 49420
PHONE: 601.701.2710
FAX: 601.731.0774

October 22, 2018

Mr. Clint Brown Flordia Public Utilites

Invoice # 25-23095
Week Ending October 21, 2018
Foreman Scott Arrington
Storm Number FE1890469751430

		w.		(*)
Overtime	707121	Qty	Price	Total
Foreman	- 3	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	 112.00	69.99	7,838.88
Groundman	7	112.00	64.62	7,237.44
. 10.7	7-7-13		Total Men	45,292.80
Equipment	1000	Qty	Prīce	Total
Crew Cab Pick-u	ap	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	-, -, -, -, -, -, -, -, -, -, -, -, -, -	112.00	47.36	5,304.32
Pole Traller	, )	112.00	17.60	1,971.20
	7137-19	т	otal Equipment	20,606.88
	, , , , , , , , ,	То	tal Due to MDR	65,899.68

PR#: 009222
Date Rcvd: 0-20-18
Received By: 5canned Date: 10-30-18
Processed By: J Roye

www.mannedwgist.trip.etgiss